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Q1. Simplify the following Boolean functions to the minimum number of literals sum-of-
product expressions using algebraic manipulation:

(i) AB+BC+ACD+ABD+ACD

=AB+BC+ACD+ACD asABD is absorbed by AB
=AB+BC+AC(D+ D)
=AB+BC+AC asD+D =1

=AB+BC byconsensus

(i) (A+BC).(A+C D)+AC)

=((A+BC).(A+C D)]+AC)

=((@+BC)+(@+CD)|.4C)
=((@A+BC)+ A (C+D)].AC
=AC+ABC

= AC



Q2. Express the function F(4,B,C) = A + B C as:

Q) Sum of minterms F(4,B,C) = Y m()

F(4,B,C) = z m(1,4,5,6,7)

(i) Product of maxterms F(4,B,C) = [[M()

F(4,B,C) = HM( 0,2,3)



